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You answered it yourself ■

Adjustment cost is way too high for bnf. Sometimes bnf does exceed nifty in vol

crush, but nifty overall is more consistent.

https://buzzchronicles.com
https://buzzchronicles.com/b/trading
https://buzzchronicles.com/Shubham51ngh
https://twitter.com/SarangSood/status/1345345995861708802
https://twitter.com/SarangSood
https://twitter.com/SarangSood
https://twitter.com/SarangSood

	You answered it yourself 🙂Adjustment cost is way too high for bnf. Sometimes bnf does exceed nifty in vol crush, but nifty overall is more consistent.

